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QUESTION 1

Refer to the graphic. How many collision domains are shown? 

A. one 

B. two 

C. three 

D. four 

E. six 

F. fourteen 

Correct Answer: B 

 

QUESTION 2

A company has placed a networked PC in a lobby so guests can have access to the corporate directory. A security
concern is that someone will disconnect the directory PC and re-connect their laptop computer and have access to the
corporate network. For the port servicing the lobby, which three configuration steps should be performed on the switch
to prevent this? (Choose three.) 

A. Enable port security. 

B. Create the port as a trunk port. 

C. Create the port as an access port. 

D. Create the port as a protected port. 

E. Set the port security aging time to 0. 

F. Statically assign the MAC address to the address table. 

G. Configure the switch to discover new MAC addresses after a set time of inactivity. 

Correct Answer: ACF 
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QUESTION 3

A network administrator is having difficulty in establishing a serial link between a Cisco router and a router from another
vendor. Both routers are configured for HDLC encapsulation. Which statements are true regarding this configuration?
(Choose two.) 

A. The Cisco HDLC frame uses a proprietary "Type" field that may not be compatible with equipment of other vendors. 

B. HDLC requires a clock rate to be configured on the routers at both ends of the serial link. 

C. PPP encapsulation is recommended for serial links between equipment from multiple vendors. 

D. Usernames must be configured at both ends of the HDLC serial link 

E. The HDLC vendor type must be enabled on the Cisco router. 

F. There is a mismatch in the HDLC authentication password configurations. 

Correct Answer: AC 

 

QUESTION 4

Which of the following protocols uses both TCP and UDP ports? 

A. FTP 

B. SMTP 

C. Telnet 

D. DNS 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit. 
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A network administrator has configured a Catalyst 2950 switch for remote management by pasting into the console the
configuration commands that are shown in the exhibit. However, a Telnet session cannot be successfully established
from a remote host. What should be done to fix this problem? 

A. Change the first line to interface fastethernet 0/1. 

B. Change the first line to interface vlan 0/1. 

C. Change the fifth line to ip default-gateway 192.168.17.241. 

D. Change the fifth line to ip route 0.0.0.0 0.0.0.0 192.168.17.1. 

E. Change the sixth line to line con 0. 

Correct Answer: C 

 

QUESTION 6

What process is used to establish a connection-oriented virtual circuit between two communicating hosts? 

A. flow control 

B. sequencing 

C. windowing 

D. three-way handshake 

E. duplexing 

Correct Answer: D 

 

QUESTION 7

Refer to the exhibit. 

The network administrator made the entries that are shown and then saved the configuration. From a console
connection, what password or password sequence is required for the administrator to access privileged mode on
Router1? 

A. cisco 
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B. sanfran 

C. sanjose 

D. either cisco or sanfran 

E. either cisco or sanjose 

F. sanjose and sanfran 

Correct Answer: B 

 

QUESTION 8

In which default order would a router load a Cisco IOS image? 

A. Flash, ROM, TFTP 

B. RAM, Flash, TFTP 

C. Flash, TFTP, ROM 

D. NVRAM, TFTP, Flash 

E. Flash, NVRAM, TFTP 

Correct Answer: C 

 

QUESTION 9

Refer to the exhibit. A user cannot reach any web sites on the Internet, but others in the department are not having a
problem. What is the most likely cause of the problem? 

A. IP routing is not enabled. 
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B. The default gateway is not in the same subnet. 

C. A DNS server address is not reachable by the PC. 

D. A DHCP server address is not reachable by the PC. 

E. NAT has not been configured on the router that connects to the Internet. 

Correct Answer: C 

 

QUESTION 10

Which two statements describe the IP address 10.16.3.65/23? (Choose two.) 

A. The subnet address is 10.16.3.0 255.255.254.0. 

B. The lowest host address in the subnet is 10.16.2.1 255.255.254.0. 

C. The last valid host address in the subnet is 10.16.2.254 255.255.254.0 

D. The broadcast address of the subnet is 10.16.3.255 255.255.254.0. 

E. The network is not subnetted. 

Correct Answer: BD 

 

QUESTION 11

Refer to the topology and MAC address table shown in the exhibit. 

Host A sends a data frame to host D. What will the switch do when it receives the frame from host A? 

A. The switch will add the source address and port to the MAC address table and forward the frame to host D. 

B. The switch will discard the frame and send an error message back to host A. 

C. The switch will flood the frame out of all ports except for port Fa0/3. 
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D. The switch will add the destination address of the frame to the MAC address table and forward the frame to host D. 

Correct Answer: A 

 

QUESTION 12

What is the purpose of a default route? 

A. It is a route to be used when the routing protocol fails. 

B. It is a route configured by an ISP that sends traffic into a corporate network. 

C. It is a route used when a packet is destined for a remote network that is not listed in the routing table. 

D. It is a route manually configured for a specific remote network for which a routing protocol is not configured. 

E. It is used to send traffic to a stub network. 

Correct Answer: C 
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